Compare patterns..

Given the tab‘Je elow, tick the correct option.

Patter A 9 4 ~ 8
Rule. add 2
Patter B 0 2 14
Rule. add 2

D Each termin pattern B can be found by subtracting 2 from the corresponding term in pattern A

D Each termin pattern B is/ 6 more than the corresponding term in pattern A

Given the table below, tick the correct option.

Patter A 24 | 36| 48| 60
Rule. add 12
Patter B N 9 12 15
Rule. add 3

DEa“ht rm in pattern B can be found by dividing the corresponding term in parten A by 4

Q,Ea,:hiermimJaitem,BJ5,12,tLmfastas&ihar_tMamaes,pmwin,guminﬁcatemgé;

Given the table below, tick the correct option

Patter|A

Rule. Subtract 5

Pater|B 76| 7l 66| 61 | 56

Rule. Subtract 5

O

Each term in pattern B is/ 11 more than the corresponding term in pattern A

DEa h term in pattern B is 11 less than the corresponding term.in patern A
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B, Compare patterns..
=

a.  Given the table below, tick the correct option.

Patter A ) 4 6 8

Rule. add 2
Patter B

Rule. add 2

D Each term in pattern B can be found by subtracting 2 from the corresponding term in pattern A
MEach term in pattern B is 6 more than the corresponding term in pattern A

b. Given the table below, tick the correct option.

Patter A 24 | 36| 48| 60
Rule. add, 12 ,
Patter B 6 9 1 15
Rule.ladd 3

&/Each term in pattern B can be found by dividing the corresponding term in pattern A by 4

D Each term in pattern B is 12 times less than the corresponding termlin patern A

c.  Given the table below, tick the correct option.

Patter A 65 60| 55| 50 | 45
Rule. Subtract 5
Patter B

Rule. Subtract 5

76 71 66 | 6] 56

F) =

-’
m/Each term in pattern B is 11 more than the corresponding term in pattern A N
L—
—
DEach term.in pattern B is 11 less than the corresponding termin pattern A n
albe
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